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ENGLISH
Choose the seirtence which is correct (e. l-3) :

l. (a) A series ofincidents have taken place.

O) It is a five-men committee.
(c) From which hain did you come ?
(d) This pronrmciation is peculiar to Bengalis.

2: (a) He is wiser than brave.

O) FebruaryhaslessdaysthanJanuary.
(c) He takes no less than two lihes of milk weryday.
(d) It is the most unique piece.

3. (a) I was asked to stop writing.
(c) My hairs stood on ord.

O) She denied to go with me.
(d) I am reading this novel for four days.

evils.

E

Choose the wrong seirtence from the choices given for each qriestion (e. 4 & 5) :4. (a) Copy it word by word.
O) She is out ofdoors.
(c) She prides herselfon her wealth and beautv.
(d) The dirty old man was r€pugnant to me.

5. (a) The dacoits robbed my belongings.
(b) The first two pages of this book are tom.
(c) He came to us wery third day.
(d) He atoned for his sins by giving alms to the poor.

Fill in the blank with appropriare preposition (e. 6-9) :
6. He was in a hurry and just glanced _ the letter.

(a) ov€r (b) at
(c) througlr (d) upon

7. The super.stitious persons believe in many rituals toward(a) against O) off(c) of (d) out

8. There is no limit
(a) to
(c) in

the wants of man.
(b) for
(d) of

B

Cold climate is conducive
(a) for
(c) .upon

working conditions of man.

O) on
(d) to
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Fill in the blanks with appropriate ve6s (Q. 10-13) :

10. The bridge 

- 

up by the terrorists only last week'

(a) blowed O) wasblowed
("i was blown (d) was blewed

11. We observed that the thief
(a) chased
(c) was chasing

: n. Please see that the Patient 

-

(a) does not disturb
(c) was not disturbed

(a) lapses
(c) dereliction

19. At a party, he is always in hieh spirits'
(a) talkative
(c) drunk

Pryer-l (Apdtude T€st)

12. Never 

- 

that he would treat me shabbily'
(a) alA t aream O) I dreamed

i"t had I dreamed (d) have I &eamed

(b) was being chased
(d) had been chasing

o)
(d)

is not distubed
has not been disturbed

complete the sentences by choosing from the altematives- given below each sentence (Q. r4-rD :

il. 'e potiti.i*,s speech must bi read the lines; it may have a double_.
t"i behind; edge (b) betweerr; meaning

Gt among; "nds 
(d) ' beYond; face

15. There is no glory in war 

- 

the blood it 

-

(a) considering; sheds O) comparing spills

Ci worth; costs (d) thinking; demands

16. He lives in the world of 

- 

.

(a) delusions (b) conclusions

(c) allusions (d) illusions

l7 . In one election after another, officers have been guilty of scious ofduty.

Choose the conect meaning ofthe underlined idiomatic phrase (Q' 18-20) :

It. The boy tumed a deai ear to the pleadings ofall his well-wishers'

(") listened carefirlly O) was deadly opposed

i"t posed indifference (d) did not pay any attention

(b) carelessness
(d) abandoning

cheerfirl
uncontrollable

(b)
(d)

20. Thene is no love lost between the two neighbours'

(a) u "G.-d.hlp 1b) intense dislike

tt a love-hate relationship (d) cool indifrerence

B



choose the word which is nearest in meaning to the underlined words given below (e. 2l-25) :

21. Percolate

(a) closing O) seep
(c) perilour (d) deem

22. Diabolical
(a) fiendish O) contemptible
(c) burlesque (d) ap,proving

23. Intr€pid
(a) brave O) supportive
(c) favourite (d) hembling

24. Sooradic
(a) regular O) congealed
(c) expensive (d) intnnittent

25. Inath
(a) hate G) dislike
(c) reluctant (d) willing

choose the word which is opposite in meaning to the underlined words given below (e. 26-30) :

26. Maverick
(a) abnormal G) individualist
(c) pluralist (d) conformist

27. Repellent
(a) O) invitins
(c) disgracetul (d) entailing

28. Fidelity
(a) allegiance O) accuracy
(c) disloyalty (d) strictness

29. Hazardous
(a) safe O) perilous
(c) dicey (d) dodry

30. Surface
(a) dive O) rise
(c) outpour (d) emerge

B 4 piper-I (Aptitude Test)



PUNJABI

31. fu H rard-s trds' Esr iiz t I

32. to fist ery fue 1rded' gd'dA :

ararc 3 unrer rrwa lrd'Tda h{nii iFJ + xfHr 

- 

6SDa I

(a) Cq/dfr
(c) ftrerldd'

(a) gd'

(c) SrH'

(a) €g
(c) gfi

(a) frs td
(c) freq-J

O) fi5ala'6r

(d) fHt?{r€rDfdtrE

O) iffvxr

(d) El.dr5r

O) fd6{A
(d) du:r

O) tud3d
(d) firdds

o) qa
(d) et{r

5-

o) gs
(d) tu

33. to fist e'a fus udqd'W ad:

FduA fi-+iudffi *ga )flrqt tfr )trnr x'a forr t

34. to firB Ea fss Ed'-sfl yo a-oe *a gu ai :

@fi€dYJdefis?itrffi ffi rru'3 rffii$t t

(a) 9l(16

(c) fA

35. eay+ad:
EHtrdrs'e'if a-&ile't

36. <'iA lRr d-d :

fu{dd6tdui'StP6nrnr$}Faffa t arfr t

O) riw{xfii6o'd
(d) dsia

de 0-d H.d i
ds )i.q a

(a)

(c)

PrpGr-I (Apdtudc Tctt)

37. <agmad':
t?Tfi dq ue stfr d-dl ? 

- 

frd de A arfre & * *d6 t

(a) LiU

(c) ft€
B



38. t6 ffi xrg e 4iA fd-d-J')?ffud ddr Fa-er a ?

)fi's, fr€6, frHerE

(a) frd O) Ea
(c) e (d) Dfir

39. t6ffi EF€r e lrffr DrA-s-d dar rdE il :

drft-J, EFd)?fr, ss, Lr{

(a) gu O) ftH
(c) r4fE (d) ,lfq

40. 16 fEB grE i sS ffd-r' u*d-d a-fi A ?

s-ar, fildr;r, Efurrrt

(a) ir6ot O) g
(c) ht€1 (d) 3

4r. trv'e f yo ai :

fi+d6 firfi r

(a) i-A O) i.a
(c) lfn-A (d) +6'

42. 6ta xse gea,?ir{.€ 6 ye'at ,

s. e'o fiJ}?r H.etB nr fit ltr f,rdtg I

(a) dF:rt O) drd
(c) fsm (d) fix'

43. i6 fiED HE-€r e rfe gTdt t rarse frD arB no, &a fz fi rre"e ai :

(a) fiiAufrr-ifrHd O) a_rd-€6_€Hdtd3
(c) fsiu - xeys (d) gdfu I,ifi - Eirro:r

u. t6 fiED eqr H'kdJ'era lrry,fr gq-d,Fr f€r a ?

(a) fttisxffdfamr'fi r 1u) ffurafrmlm I

(c) trgifrFfdd]ry'famr'* r (d) ffpassrgidrr I

B 6 p.per-I (Aprirude Test)



4s. risdfiSrgqrafrt:
(a) Hd
(c) HFd

46. fuFdznxsE- :nfiua:
(a) ew{.J/Sup{'*
(c) frtu/Befi

47. rsgre-i=Es'aret:
(a) m{HEr

(c) dFi-e

48. fusnsessw-igrdrfrtt
(a) fri6
(c) 66rE

49. fasnretxfA fisD rrrssF&F&u6t
(a) 3iliIF-AEr
(c) a€6fr-Er+sr6s6

50. fan sre ? sse-*-J r& a-& usr

O) lprrr*
(d) eea'ad

O) ffrd/fffi
(d) rg)trt<&l+?trfr

O) qE-gd'

(d) Y6€-Alrr

o) gu'

(d) tilit

o)
(d)

a-rc<'o-€ffi
f€'6-€fisE"5'

(a) frtA
(c) HfrdF

sl. t6 frq 1gi'fd-trJ'frreriir rs-fi t t
(a) s
(c) 6

s2. t6 f[rfu]?{i fEi'ferrf,-*e t:
(a) 'f(c) e

(a) ti6
(c) f{f63

Prpcr-I (Aptitude Tert)

o) Bd
(d) frfeDr

o)a
(d) s

. o)grJ
(d) HHt

7

o)6
(d) e

53. &a sse qe& e'a Lrd'ad :

frarrftur e' asd t fr 

- 

f€t{ds aat et$ t

B



g. &a xa-e pr6a e'a gro at :

rsa'o B rnE *gxsrfrryr f xfiiud _ F+ r

(a) rJ"61 O) *)f3
(c) LiF5 (d) ifu'

55. &dugd€ 616 €ra gwai :

fE-d*+fd-r'st3_*S r

56. era go'ai :

tgfi{Drrd Eu tidre' ? rrs fus.o e{u t r

(a) d-fr O) u'Et
(c) i-d. (d) sot{r

s7. #d fgqa s' i e'a lroat :

td'3H'fd-trJ,f<fu,r.ofrtfus sr5sr] 1

(a) er (b) a
(c) f (d) d

st. Vfr8m-fercdftf,dr e'fu€' da nfr a* tr
(a) ,fu/ffi O) €du-J-dfd.et

(c) u*q'r8=-S (O rror:rnroGfr

s9. 6.s+ffiFeft.$fruoo'ffirief rfic$t r
(a) iic: iic' O) yo: y6'
(c) fr-s: frsd (O b{r6n. ha6nt

(a) fud

(c) ffi

60. fdfdfdrrr Er6 erd go'ai,
*gdrrlfi'xf,frpxd_t r

(a) ifdltr
(c) 

,ftolrr 
t

B

O) ,rrd

(d) fda*

O) ,rr'_ea-

(d) ust famrt

8 PTer-I (Apdtudc T€st)
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61.

TEACHING

Choose the incorrect :

Essay type test helps to

(a) Induce good study habits in the pupils

O) Encourage guess work to large extent

(c) Develop the power oforiginality of thought

(d) Organize ideas effectivelY

ar 3Ai6*e
f6riq gfi?raro Fs'asd us

(a) ftftu-d,frut f+s rr:* d iifi b{'€ l-e'aeo s*
1t; )r16!rrfi riH d € tqd 3 ffi€ T16 sS
(c) ftsrd S fiftffir * r*$ e' fu*'s *es d
(d) ffi O UffiFd€dr am farfas a-dd sS

Whichteachingmodelbrougtrtthestuderrtintothescientificprocessandhelptocollect
*A*Ay*t ttti alata" check out hypotheses and theories ?

(a) Concept attaimnent model O) Picture word inductive model

G) Mnemonics (d) Scientitrc Inouirv

fdn frfu,?{, nrs t feferrrrsfi d f€frDa;t{frfd'd'f€ fr;r'e' A-'B vffi3ryt ?i HE
a-ss, f<rBaa a-ee l{rrJr€i l{3'fiTqEr fi s'g *qo ffs rs€ ** t?

(a) fd6uwr$)tr56
(c) fdFfiEF

(a) fr's.d ftLi63'F
(c) fuHE$fqi6-r'

B+srl}z'+!-gffidf fr ?

(a) #6tdlz
(c) aeifffealM

P[er-I (Aptitude Tcst)

=r*g-nre 
D{nl}f6B}l6t Ht€r6

fefrrlrrems

O) erdtrdd 6m'u3u6-e'
(d) f<furfiirrra-qs "ttfts'

O) *t€-drd}s+d6-#d
(d) fif€-dfrf{drd

9

(b)

(d)

Reciprocal teacting was designed specifically to teach

(a) Communicationskills ) Listening and reading comprehension

(c) Writing skills (d) SkillofExPlanation

:i"*';rffiil5 eos' t+s gu fee a ft'{6's E6 dt$ dI* fr

6. Who invented the tarn Tnne of Prortmal Development to capture the problern of

understanding the stud€nts' level of development ?

(a) Jean Piaget O) Edward Lee Ted Thomdike

i"; Lev Semvonovich Vygotsky (dl Erick Erickson

frfer1-s6i a fe-d,F - qq;'t-;# fi Fr;fnrtt' d ag a-c; sfi asa 'i's me rf*flm

B
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65. which ofdre following is the last lwel of cognition according to Bloom's Taionomy ?(a) Evaluarion @) Analysis(c) Comprehension (d) Apptication
Eg'H Ax.elfr r?{Onrd t6r fgf+rtr f€.fuc' Hfoi fdpr{ra er rE + A6r Uqs }(a) UErdi O) f€,rtF€
(c) i*t|6tF6 (d) fg€-dB

66. which of the following research gives immodiate solution to the immodiate problem ?(a) Fundamental research O) Applied researctr(c) 
_ 
Descriptive research (d) Aciion reserchta fEfrryr f€d ffi c-r rr*r* pinr,i,-'e, jsi;# as fg+ t
fftH +r
egaarsrd !"fi

67. What is MLL approach ?
(a) Maximum Level of kaming
(c) Minimum Level of Listeiring
MLLqiis*a
(a) DffuDae"gtrJHtqd
(c) g6-6 u ft_gFJH Uqd

@) Hffififfux{'
(c) f€fi3mfo)dr

O) Minimurr level of Leaming
(d) . Maximrrn lrvel of Listening

O) arfutaerftge-srrriw
(d) rs6ergsJt{ritrd

O) fud,-trdir
(d) }|od*f

O) yFJo-fu'+f,dmfrprl
(d) Vfiag{a fifcD{'

(a)

(c)

68. Leaming in which each individuar contsibute their puticulr orpertis€ to a sharcd reamrnghistory, is often called as
(a) Co-operative leaminc- O) Interdisciplinary lerning(c)- Distributed leaming Ci Experientiat lerning
mfo"r' frF ffr dld frD{d*,rrqz+ fr}i-ffi 5'ffi'€'{+'Fm*- r+ u,g*r a,ryoffir----d _'e$a I

69. What is the role of the teacher acooding to the Constructivist perspective ?(a) Role of an advisor O) Role of classroom manager(c) Role of a fiiend (d) Role of a facilitator
ts€68-Ha l€Ba6 i rca.s ryfurrrnra + ii g6ra.'--_bf 

- "
1"1 F1y1qgFd' O)-rHBrIiEH*g0rd,(c) ltiilnirdfrgfird' (d) kryrs+ee,e+gfxa,

1\ w{91 tryl of teaching an idea cen be critically examined ?
t"l Knowledge Level G) Unaerstanding frvet(c) Reflective Lrvel (di appficatioif-eva
r'rffut?rnfa i fdn tqo .i & reg.g er )rrg-d6Brd Usid€ er n*er tr(a) fapxr6itcs,3 O) Ht{r-nrl[d.3(c) nftfiiry-a trd .3 Ci fufl"d e Uq-d.3

B
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71. Selfregulatory knowledge includes elements of

(a) Formal Knowledge (b) Informal Knowledge

(c) Impressionistic Knowledge (d) 
- 
All o-f the above

H-fee*Hftwafds tfsxfitsii?ua

72. Discussion in the class will be more effective if the teacher

(a) participateenthusiastically

O) informed the students about the topic in advance

G) write the topic ofthe discussion on the blackboard

(d) does not introduce the topic to the students in advance

o*.s f€-t fusrd--ctsgr €Ae \fd'egd i+dr t-dd )1rfo)trua

(a) $sron'offF fe'a
(b) feFet{cfr O ffi s'a uftlot iF fos'A

(c) fe-d'd-ed e ffi U s&a-+f,* 3 f&r€' A

iul fefum-ofrrrl d ffi a'o uffi i f,E 6fi a-{€'$e' t

T3.Maxim,accordingtowhichthechil<lrenshoulrtbetaughtaboutwhichthechildrenalready
have some knowledge is known as

(a) Proceeds fiom whole to Part

O) proceeds from particular to general

(c) Proceeds from known to unknown

(d) proceeds from analysis to synthesis

1a1xH, fifie r40"" frip j g" 
"€ 

ror*cr €rdtsr t, ftH 8'a ffsx{t d Lfftrl'* qE

(a) Sme-dfdT,tr6
(c) UdE-€'I-Sfdl,tft-6

---a:* +
ftlTD{r6 iI, _- dd'v€' o

(a) Hda i B3 {g, €qa-

(c) ufrfuJi' )tattdfuJ€s €qdr

O) }'ra-€us.fdfuttr6

(d). €t{ia-J FTa

O) Hxinqr-d6{5{[E
(d) ffiF-€iffiHEerytq€r

74. When a teacher uses gestures' or some other behavior to rehforce students' leaming

hdshe uses --_-_-'
(a) Positive verbal reinforcement (b) Negative Non-verbal reinforcement

i.l Negative verbal reinforcernent (d) Positive Non-ve'rtal reinforcement

si ryfunrqa fttu*d#-J-6;6 g#.rsd-dds* fal3' t'dE td laqg'-dt e' 4idr

u-*t*go-uq*a*e+tr r

(a) qs.snaxuFsgsH'd O) tdEJl{da€HIEfe-dgJFrJ

i"; fuselc ETqFsd $sxrd (d) qs'-srd erd-Hufsd qfrtr

B
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Which of the following is not the objective of the programmed Insts'ction ?

!a) To complete the syllabus as early as possible(b) To help the students to leam by doing(c) To help the students to leam at his own pace(d) To help the students to study by himselfts tufrryr f€' kdr' fiFsdq fe#E gfx a-S t r
(a) u.o-qH fi5' H6-Sfis-€i xd yo *m'
(b) f<felrd$,rrr d ,flr rca 6'6 fHs€ ffr Fdrfur a-d$(c) f€ffi d qnifr )l1RrEt d* '3 fiuE Fd 6-drf€sr q-dal
(d) feffi)r{r d fu gu-cr rrrnr rq.s ffd FdrF:rare

The review that involves both the teacher and the pupil is called(a) The daily lesson review
(c) Unit plan review

(b) Topical review

Q) Co-operative review
fa-fruE frr frd ryfwrrr* hri f€fuD{'g*'i+ mtirJ'Sio., a

77. The. concept that developed from the first experiences with things or went from the
environment is termed as
(a) Formal Operational 

"o"".et (b) Concrete Operational concept(c) Pre-opemtional concept (d) None ofthe above
€rJr€ira I€E €F3)l{i Hi dr6Ei 616 uftlB }rr-crg-€r + Hrs js qrf6, d _ fud,aett I -" u

(a) iiwqofisdhfd
(c) fordtiffi'faftra

fq-€-d.€-d rnrfi q.gS,

y{€-Y}0{6 qre6r

(a) ffe-svn6
(c) $e UF6

O) ne'fdf<frrif+ftft{E
(d) Fftd.Sfrerc

O) dnmrdq.ec'
(d) &r+dsi*d$

78. The question that leads to expected answer is known as(a) Narrow question O) Broad question(c) Closed question(c, uloseoquesuon (d) Convergent question
{F6 frE E fs'flJ g-J-d Ue'4, ild _'e.e, A'

(a)

(c)

(b) f€Frsr$r6
(d) a"etnfiVss

79. The process of Imagination is best supoorted bv
9l Sharing stories, explanation and iescdpti;;--
o) opening access to distant pra.ctices through excursions, visiting talking and observing(c) Empathizing
(d) Do^cumenting historical developments
46116r el {alir}rtr er -- gzr.o grrgsd *g, HrEr t I(a) d-d,t1Dtt ntSrrrt *ea, f€)r{rfurr ry} fus rer
O) i-e^nrr.a, tthf'ft8, ds s,s Dr] rr*€$ grrd, gde-d-+ )rrB)r{rEr d tr_.re ild6(c) sdgdd6
(d) fsfrd'Fd f{d'Et d rsQf gte-

B
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g0. which of the following is not the characteristic of High order thinking skills?

(a)Itencouragesstudentstointegrateschoolknowlodgsandtheknowledgetheyacquire
outside school.

(b) It empowers the students with skills that help thern to waluate and negotiate complex

situation.
(c) It helps the students in rote-playing'

iOl It tlevelops students' creativity to take hold ofopportunities presentod by Orc

increasingly.varied local and glotal economic contexts'

to dbflt-i$fat* gt q* fr€ fdf6€'€t d ffir+ rr& t t
(") fuo fefurr'n-s$r{' e "gS 

frt*"F gF frDt'-6 i gd ry6 i s'd+ }'{-df€ ddi ir6'

6 axks *eo s* ffi€ rd tt
(b) fta-ftfurt'"d* e 

-g-d6'ft-ti6Te'a'u 
mrde df$ t ; gott S ;fz6 nffi e'

U-s,-*6 dir6,rr3 9n am 6fude Fs rorfer are$rrti m t

(c) fuo f<furt'-o*nrt d gflra'fisB€E f€s t* 1esa
ia; fud frfric *,-* oti ftr€-f€D{ard urerd fwdt e'tH di arB *frry' 3 u*s
)' u* s21ftfuurofi fr ega-sHilJ' e'f<a'gaeS? t

81. Contextualization means _-.
(a) To make education relevant to local contexts

O) Focus on educational refoms'
(c) Experiences ofthe students'

(d) Reading contexts of every topic

Vfdfr-d-dd E"rres t
(a) trfoh{' O xs.rd r{,tr a n6qos€e
O) fiifouagu'-e"3*es*do
(") ftful{rdfia }fl6;r€

(d) otdffiefec+dti-{6'

S2.Tohelpthestuderrttodealwiththecomplexityandmrbiguityofthecontentandcontextof
knowledge, teacher should

(a) Manage the classroom prop€rly'

o) Allow students to oi."gr"r*iti 
"".rt 

other while facilitating reflection on why they

disagree.

(c) Inhoduce group discussion in the classroom'

iai Provide notes of the each topic-in a simple lannnee'

Hr*'A ft* ;r"fr #ffi il'#.*',r5 'rnr;:3;a's 
dfirdd f€€ fetuxrsdt fr

rorflgsr ags d s'-ect a --
(a) fiHr3 er fia iia e'{sq dirfl
(b) gd )?rxFoH-s ftg;b 

"*fim 
*sa fug ryrs f€ft"{t f<furdfrtri 6 trd gne

r )?igfdlg +E S 
'}{tfrI}tr'}€t

(c) ar+.s frs 41O furo ea'uu' ao -€a
(d) dtd H i rss g's' f€s i-a tt

B
Paper-I (APfftrde Test)



Kelly & Kelly dernonstated that a continued and continuing learning in terms ofpedagogy
includes
(D Curriculum & Subject knowledge
(ii) Whole school issues
(iii) Barriers to children's leaming and how they might be overcome
(iv) Culturalknowlodge
(a) (i)&(ii) O) (i)&(iii)
(c)_ (il&_(iv) (d) alr tn" Jro""id a ftfitF{Fed-d6#J'a fd,rrt+se+t HF€i f{sfud f6€rd,,r} fi+gfit€rdhrfoh16ffr xf+silet r

(i) wqHnrlf€H'fdrt?r.6 (ii) F_dotrtlle
(iii) rifu)r{r ? fiqE f€s rdr€zi (iv) nfgrrrvo'a fawrs
)rf} gd6' : fde Bfd)rr' il lra-er a

To tansmit relevant, identifiable and dynamic knowledge in the classroom, which of the
following method is most suitable ?
(a) Discussion method O) project method(c) Story telling method (d) euestion_answer method
iltT $e "6gy: 

HHTaidr. r{s'ea'd frDfld rrireE d, &5r fdF$r{r f€+ fail-* ffi
mrT?rrEr{€ra ?

(a) (i))?f3 (ii)
(c) (i),?d Cv)

(a) f-s'-d-€ztedrffi
(c) dddtEErSedffi

Ability to retain means
(a) Understanding
(c) Explaining
qreiiq€**dgrg r,{iteA
(a) FXe
(c) Rrrfi*rrrr a-eer

O) (i) rr3 (iiD
. (d) &{+d-J H'e

(b) qldztufr
(d) UF6-g-f,dffi

Knowing
Narrating

E5s6
eira6 dir6r

o)
(d)

o)
(d)

Teacher's assessment of student knowledge needs to(a) be objective

O) be basod on psycholory ofthe snrdents
(c) move from evaluation of sirnple tasks to more complex lwel(d) in writtcn fomr at every stage.
fefery'-orfi fdp?r'; n rt{fu,raua e iu'-aa *
(a, €F-J.t|-fd ir€. g.df€I a
O) fefur.d+ fi Hrafr*s' ,] rcrq'f€ +d'€-de a
(c) Flqrild dl{r n Us.a-e : ffi6" fu-d is.sr5r s'd-e'}
(d) us Uqd '3 for$ gu f€s +c's-ee. a

t4 Prp€r-I (Apdtde T.rt)



t7. The conte,lrt of student work must be judged on whether sMents

(a) arewriting the sentence properly

O) have good handwriting

(c) re developing their skills ofreasoning analysis and synthesis

(d) have good command on the grammar

frfuryrsfr t iix S f€ir F)ffi e' egg' alrd t€' s'dte' t g€ frfut{r-d*

(a) 
"qyfi3-flfu*aiusO) tu'i.S +fi t

(c) )rnrslrf Tdd, ffir€ ry3 ffiB-c fr fr, e'fsaq as oi ua

(d) f€r{.@E93iffiu**t

8t. "What is a three sided figure?" is the example of

"Fdfii6-c-frlrr'ffi*4" Sge.arct

(a) Explanatoryquestion

(c) Recapihrlatory question

(a) feryfury.st{a{F6

(c) 11-Sfrtol's}taqr6

(a) Roleplaying

(c) Discussion method

O) Reasoning question

(d) Developingquestion

O) 3€a!rd6t{Fd

(d) ffisUrs

O) Debatemethod

(d) Lecture method

E9. Lesson plan helps in 

-.

(a) the removal of difficulties likely to arise during teaching

O) removal of pemonal problems of the students while teaching

(c) the achievernsnt of good scores

(d) the completion of homework

1116 A-16r F-dtbJt d-d-A a

(a) rr:rgs €-d'6 t€r ic €dr{t ris.€ Urd6' 6 dz'Qe f€s

O) uJ€E E-d.6 fEfuryr-s*nrr f)1{t fit* Hffr}?{r€i dz€E ffs
(c) itnrtrdWu3Tddlts
(d) urderiiHuitraffiEg

90. Which method will be most suitable to teach a large number of students ?

(c) f<srd€cisdrffi
P{cr-I (Apdtude Teit)

ftrrle ffi f<furarrosrrrt d rn'-gE #i ffi ffi rg i {q ffi i?afr

(a) g0fd'lrrBeffi o) 3fd-fsf,{dffi
(d) &{d-dffi
15 B



91.

GEI\TERAL KNOWLEDGE / CURRENT AFFAIRS

Narendra Modi is lndid's _ prime Minister.(a) l4th Ol 
-16.-

(E l:"^ (dt l3,h
afiiso ti$ g.es e' _ l.1o'6 ffi 1

Which of the following is not a Union Tenitory ?
(a) Lakshadweep O) puducherry
(c) Sikkim (d) Dethi
to' fEf$?{t fii fd-d-r' ffa affi H'frs .its 6-+ a r

(a) l4<r
(c) l5<l

'National Constitution Dav' is on
(a) 266 January
(c) l4tr April
d'Fdfrffrq'dfstrdEiig A
(a) 26 rfssd
(c) 14 ryq6 d

(a) E'aE-Su
(c) fHfuH

(a) llfr
(c) UFdrd

(a) q.6' iiE
(c) o.et fiut

(a) ffi,rr3$
(c) LIESrlrls'3

Which city is famous for Brahma Temple ?
(a) Puri O)(c) Pushkar (d)
fd-trJ' Htdd qdH )ifod d xr-ao i r

o) 16il
(d) l3er

O) 2d October
(d) 26th November

o) z nm-:t-o{
(d) 26 6€Tdd

O) _u-_d-rfr

(d) fdd

O) d'#
(d) g+6

O) Fsn'offi
(d) Ayt-g-s.6

O) dffir"rrlmffi
(d) dms.u3iwrd
16 PrpeFI (Apidtude T6t)

94.
Kashi
Ujiain

95. The longest wall in India expands over 38.5 km. It was built by
(a) Rana Kumbha (b) SherShahSuri
(c) Rana Sangha (d) Tipu Sultan
sqJ fss Fs i i6fi fiE e at.u an nq *d i*-t r feg u fa-+r.e 

- 

glrd'
a_e<{eryr fu,?a fi

The first hain in lndia ran between
(a) Mumbai and Pune Ot Kolkata and Siliguri
(c) Mumb_ai and Thane (d) Kolkata and Sealdah
s.dJ FstJffie6 

- 

fad-drg ddlfi

ll,

B,



9E. Which of the following is the biggest fresh water lake in India ?

(a) Loktaklake (b) Dallake

G) Sukhnal,ake (q) -Wullrlakei6 ftfertt f€iffis'-rr f€a rgitS3'i u'a?+ *6 t

97. What does GM in GM crops stand for ?

(a) GeneticallYmodified
(c) Geneticallymodemized' cM ag6r FS CN,I i g.e t
(a) Dl'-.6€ktiFfuJ
(c) ,rrd€fim't f-tqfrq3

(a) 4 !ffiT
(c) 22 fefsd

101. Dandiya is a PoPular dance of
(a) Maharashtra
(c) Rajasthan

At+rrtAa g Ha--fddrga
(a) HiIErFZit er
(c) qFImIra er

(a) trdr6re

(c) a*rd
Plpcr-I (Apderdc Tett)

(c) Pollran (d) Hassan

i.s frd ffiofu ftZu'gz g''-s FZr-6 ffi Ffr-r t
(a) frilfr,ia
(c) nH-dr6

O) Globallymulceed
(d) Globallymodcraised

G) f"F€-f?rqaw-+q3
(d) f€F€-futR{a,ttqrfrq3

36*s
s6d*6

o) 2l )fint
(d) 3 ffied

O) Gujarat
(d) Madhya Pradesh

o) uFrdrser
(d) fqu*er

(a) 8-{rd*6
(c) Strs'$o

gg. Where in India is the Equitorial Satellite kunch station located ?

(a) Sriharikota O) Thunba

o)
rd)

o) gE

(d) uIr6

lfi|. When is the earth farttrest from the sun wery year ?

(a) 4th July O) 2ls March

i.i 22n Degenber (d) 3d JanuarY

qo-* us Hrs Fdf, a'd re i F d+ ii$ i ?

102. The Rath Yatsa at Puri is celebrated in honorr ofwhich l{indu deity ?

(a) Jagannath O) Siddhi Vinayak
(c) Venkateswara (d) Malnvir

n-* eA qEI mtir fu ffg i-€r e F6){'s ffs ne'fr mS t t

O) fiififs6'm
(d) r+d'-+d

t1 E



103. Who is the curreirt Governor of Reserve Bank of India ?
(a) Arun Jaitley O) Montek Singh Ahluwalia
(c) 

^ 
Raghuran G.\gj- (d) pranab Mukharjee

s-d-Jr fd-f,cld er HE-er d<C6g T€ a
(a) lrr-tr€+3& (b) r1?afi+rrrrrt'd{r-€d"r
(c) o-uroxfr. er*e (d) r{68uc-trfi

104. which of the following is oot as essential qualification for contesting election of t ok
Sabha ?

(a) Citizenship of lndia O) Soundness of mind
(c) Age of25 yean (d) Graduation
iiar+ i'e wa d U fgBlr{i f€S fdo* Ff,fr *-ar+ Ftr A
(a) 3t-€it6rarfu€r
(c) 25 Fr6r + gfd

(a) dfgd fefrw.a
(c) dFrfeE f"frpr{r6

(a) gd'6
(c) Eattfr

107. Who was the frst spealcer of Lok Sabha ?
(a) Hukamsingh

(a) yfli fHt'J

(c) fr. *. t{6-€i-a-d

(c) 206

B

O) feH'ar$)?r+drs'
(d) 

'r6r5d

O) s€dbtr
(d) H.S

@) Nuclear accident

O) fs-ffiuee'
(d) )?fgrfd T{

O) B.R.AmHkar

O) *. trr.s. dlc*s
(d) *s'e'ryr_euas'x

(d) 207

IE

llXl. Sir C. V. Raman got Nobel Prize in which of the following field ?
(a) Physics O) Medicine
(c) Chemistry (d) peace

Fd fi. +. d',{6 d td fufsryt 1g€' frdi t-s-d ffr *Es fs6',{ Vaf3 *r' r+

106; Which of the following is not a natural calamity ?
(a) Earttquake
(c) Tsunami (d) Flash floodsd f€B,rF f€€' ffi Fd {e-d+ }d'€ F& A ?

(c) G. V. Malvmkar (d) Maulana Abul Kalam
&arflsufog'mfr{s*afi ?

10t. How many bones are there in an Adults' body ?
(a) 205 (b) 2o4
G) 2M (d) 207
fda smr i Ffid f€ f&it)r{, djht, ilfarr ua
(a) 20s O) 204

P.pcr-I (Apdtr& Tert)



l$). Who is known as the 'Waternran of India'?
(a) H. N. Bahuguna O) S. L. Bahuguna
(c) Kailash Satyarthi (d) Rajindra Singh
'ft8t6 rrrre F$ryr' t 3a ? fdn d H'frrlt' s6r } 1

(a) fi-u. fra. anara' 1b) *n fto. anare'

. (c) aurxxfrdrddt (O qfitsdfft{

I10. Web pages are written using
(a) HTTP O) FTP
(c) URL (d) HTML
?urrsffi ri m
(a) HTTP i r.ni-a a'n O) rrr t gd-a nm
(c) unr i Ufr-ar aro (d) HTML I {dar 616

111. Which is the capital city of Arunachal Pradesh ?
(a) Guwahati O) Itanagar
(c) Gangtok (d) Manipur
Dr-d6es €nAe'*q.6*6u1
(a) drdd O) eta-erd
(c) iffia (d) }fd_lrq

112. An organization's introductory webpage is called its
(a) Portal (b) Blog
(c) Homepage (d) Website
ffi fgs' e' rnriBa }g d ild'tre' a
(a) tidz6 (b) ssril
(c) iH D-n (d) ?wr*e

ll3. Who was the first p€rson to go into space ?
(a) Yuri Gagarin O) Lance Armstrong
(c) Neil Armstrong (d) Bnzz Aldrin
gu.* Fu rrre Erot uFds'f<x{TS *'E#
(a) trfr drrdr+6 O) ErdF v{RtHreiridr

(c) 615 urdHF?€tdr (d) Er 1116lT6

114. Who is the Finance Minister of Punjab ?- (a) Anil Joshi O) Arun Jaitley
(c) Parminder Singh Dhindsa (d) Bikramjit Singh MEjithia
fpEerf€sfrfr*et t
(a) }'{fuffi O) }1lg€ilsd
(c) u€fisdfiiurdfi (d) fu*orfi-sfift{Hfd'r{'

Prpcr-l (Apdtude T.rt) 19 B
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115. Who among the following has not won an individual Medal in Olympics ?
(a) LeanderPaes (b) SainaNehwal
(c) K.D. Jadhav (d) Rajwardhan Singh
d fEts?n f$ fdn t gdnr-d {ds fery**arg 3HdF 6-tr fJfury A

(a) d}rd tH O) Hrflerr fu€r6
(c) a. it. flrr€ (d) d'rsfira fHur

116. The 2016 Olympics will be held in
(a) Beijing (b) . Batcelona
(c) Rio de Janeiro (d) Athens

2016 g{inrd F faB Aaafuf
(a) dffdl f€d O) ErdntBdr ffd
(c) d6-*-fit36f€s (d) DF6rf€

ll7. Indian Irstitute of Advanced Studies is located at

. (a) Shimla (b) Dharamshala

. (c) Chandigarh (d) Solan-fuibm 
furEfuQz D{'a fueia Fzdla fdg Hfq-r t

(a) fxr{ll R (b) qo+r'u'H
(c) f-tdr{E (d) iozlH

118. King Bindusara belonged to which Indian Dynasty ?

(a) Gupta O) Maurya
(c) Magadha (d) PandaYa

d'*' fiiE n-dr fuH s'-d$ urd'a rs friqs fr r
(a) ilr3 O) il-dHr

(c) HdIq (d) ur5qr

119. Which is the largest shipbuilding unit in India ?
(a) Cochin Shipyard O) Hindustan Shipyard

(c) Goa Shipyard (d) Garden Reach Shipyard

s.d-J f€ xfe-fi ro'r a-e'ee * Fs i +* ffi ffi t t

(a) *-S6frqq.fd (b) fii-ErsdfxlJq'fs
(") 'irrrr fFiJH.d-J 

. 
(d) drrilJd +s fu{q'-f,J

120. Which is the first talkie film in India ?
(a) Alam Ara O) Sant Tukaram
(c) Raja Harishchandra (d) Pundalik

s.dJffld'uffiedftBr{ffit ?

(a) DrsH,r{krr o) tts 3i-dtdtt{

(c) (d) Grfua
B 20 PrPer-I (Aptitudc Test)



MENTALATIITUDE

121. If P + Q means P is the fath€r of Q, P - Q means P is the brother of Q, n i q means P is

the mother of Q arld P x Q means P is the sister of Q. Which of the following does not

show the relation "A is the aunt ofB" ?

(a) AxC-D+B O) AxC+D+B

(c) AxC-D+B (d) AxC+D-B
il*o r+q e. >rroe i, r,q e' firs' t, p-e u )r{-ds } p, e e' yd. il, p * e e' }difir t p, e
fr x.+ t ryJ p' e e' uoe t r,q fr *e t r d fJf+dt f{i' fd-dg' fur)+riq T€-dfuJ

a-fi *ee, ..A, B S )rfz a,

(a) AXC-D+B O) {xQ+P+g
(c) AXC-D+B (d) AXC+D-B

122. A is the father ofc and D is son ofB. E is the brother ofA. Ifc is the sister ofD, how is B

related to E ?

(a) Brother-in-law 'O) Husband

(c) Sist€r-in-law (d) Daughter

A, c s flrJ a nB o, s e' ia t r B, A €r sir i I il*s c, D * +e t,s' s, s 6.s ffi
tftiq-r i r

(a) qeofusu' O) rIs
(c) frrasfeao' (d) ffi

123. Which number comes next in the series 23,29,31,37,39,45, ?:
(a) 46 O) 4e

(c) 47 (d) 53

6-* ffr l1ra15r )*a fud-g' )r€e'l 21,2s,2t,37,39,45, ?

(a) 46 O) 4e

(c) 47 (d) 53

Peer-I (Apdtude T6t) 2l B



124. Which number replaces the Question mark(?) in the series 15'22'29'36'L'50'57:

(a) 43 O) 40

(c) 42 (d) M

U* ni- t nq'6 3 furJ'xfrd Dass a $,22,29'36' '! 
'50'57 

'

(a) 43 O) 40

(c) 42 (d) 44

125. What comes next in the series ?

BFI, IMP, PTW' ?

{a) xBF O) wAD

(c) xAE (d) wBE

ll$ ffd ))Td at b{'e€'t

BFI, IMP. PTW. ?

(a) xBF O) wAD

(c) xAE (d) wBE

126. Which figure comes next in following question ?

ffioil ?

(a)O o)O
(c)O (d)O
{16 fit6 t xe'6 3 1aa3r ffi56 ur-arr t

moil .L

(a)O o)O
* (c)O (oO

Paper-I (Aptltude TGst)



r27.

128. Here are some words translated from an artificial language.

grana milka means big tree

pini milka means little tree

milka hoon means tree house

Which of the following word could mean .big house, ?

Which figure comes next in following question ?trtrn?(a)@ o)tr
(c)V (d)W
UFd fii6 t ns.6 3 fdrJr ffts ryTe31r[]trN(a)@ G)tr
(c)E (om

O) milka grana

(d) pini grana

(a) graqa hoon

(c) pini hoon

frt gs EEe' gr ffaqEr{ABrFrirrroedJ'frw t
grana milka et rafge t €S. gdrtg

pini milka er Drse t *a estrs

milka hoon g Drge t ggq:r utit

fu, fufu,t' Ei'frn-s'rroe'd-Jr urs' i me. t r

(a) grana hoon (b) milka grana
(c) pini hoon (d) pini grana

'BPsp€r-I (Aptitude T€ra)



129. If daftafoni means advisement

imodafta means misadvise

imolokhi means misconduct

which word could mean staternent ?

(a) Kratafoni O) Lokhidafta

(c) ISatadafta (d) Lokhimo

**g daftafoni et 4IIEI t advisement

ho6la6s e' ltfgs t misadvise

imolokhi €r rydg ? misconduct

ffi xre e' DldEf staternenti rdrEr t I

(a) Ikatafoni O) Ltlfdafta

(c) Kratadafta (d) Lokhimo

130. The mean (average) of five numben is 100. If one number, 80 is removad from the ligt

what will be the mean of remaining numbers ?

(a) 110 O) es

(c) 105 (d) 90

ft xta, fr iE-3 l00 t l t{d fr 'f-a, 
so { ErS f$ ua f€' ile' A g' Erfr rH et

*rs*i-dfr
(a) 110 O) 9s

(c) los (d) 90

l3l.Ifinatournament,everyplayerp|ayswitheachotherplayefandthetotslnrrrrrberof
matches played is 36. How many players participated in the tournmeirt ?

(a) e O) 12

' (c) 18 (d) 6

fu gd-6'i.z f€s fi-trd o-d flf5rfr gHe lea firs.fi a's q-J€I a )tf] s5 36 fus.q3 ae

T6 | gd;rilz f+d q:dt frie frJr-e}''{t } fJF flttlt'

(a) e O) 12

(c) l8 (d) 6

B A PrP'r-I (Apdtude Tcst)



132. If a means minus(-), b means multiply(x), c means division(=) and d means plus(+), what

is the value of [90 d 10 a 30 c 10 b 20] ?

(a) 27 O) 20

(c) 40 (d) r40

iad g i' lar-ds a ulz€ (-), a er DfttEI i gra' 1";, e Er hrds a sqr (t )?r3 e e' Drgq t

frU' (+) t90d l0 a30 c l0b 201 er fFf * il

(a) 27 O) 20

(c) 40 (d) 140

133. Six persons A, B, c, D, E, F are standing in a circle. B is standing between F arrd C, A is

between E and D, F is to the left of D. Who is beween A and F ?

(a)B O)D
(c) c (d) E

t ri} a, B, c, D, E, b{3 F fr trtrd ltd c3 il6 r s ild-s r rx3 c fesa'-s u-Jr A; A' E }r3 D

ftsaq ?; F, D e {i } r e nr3r fusa's *a ?

(a)B O)D
(c) c (d) E

134. Ifthe side of a square is inueased by 20o/o, its area will increase by

(a) 2V/o O) 4V/o

(c) $Cp:/o (d) None ofthe above

tqo gear e k Cr'6 2v/orlv F3. fdlr{'a, fen-e'A3dcs eq ilaalr

(a) 2tr/o (b) 40o/o

(c) yv/o (d) gt{easi8a-fi

P.pcr-I (Apdtude Tcat) 25 B



135. If A = 5, B = 6, C : 7, D = 8 and so on, what do the following number stand for ?

17,19,20,9,8

(a) MUTED O) NoTED

(c) MoPED (d) NUKED

**e e : 5, B = 6, c = 7, D = 8 u-3 ft-i rdr l*A a to fi] xfrd e, * s,€ i
r7,19,20,9,8

(a) MUTED O) NOTED

(c) MOPED (d) NLKED

,.^ E . ll.. I. o--"' T '20" R'--.'-
lo lo(a) r8 O) i;
ll rt(c) ls (d) i,

VF6fd{ t ne.63 *D{'+dr

KIIJ_. _'. _.:iT'20" R"
lo-lo(a) rs O) i;
ll ll(c) le (d) i8

137. Find the wrong number in the following series.
52,5r,48,43,34,27, 16

(a) 27 O) 43

(c) 34 (d) 48

io' 6-$ fri ars-s laia di sz, st, 4s, 43, J4, 27, 16

(a) 27 O) 43

(c) 34 (d) 48

26 Prper-I (Aptitude Test)



138. If the angles of a triangle a" ,b aurrd 77" are in arithmetic progressioq what is the value

ofb ?

(a) 60o O) 670

(c) 7oo thl s7"

itrd ffi H"€ e *s ao, b" rrr3 77. bid drla3 u* Fs tr6, b e" U6 a1 a

(a) 600 (b) 67"

(c) 70o (d) 57"

139. LIH: KKI:: CIA: ?

(a) cBc (b) BJB

(c) DBB (d) BBc

{Fr,fu6txe'63*n€an t

UH: KKI:: CIA: ?

(a) cBc O) BIB

(c) DBB (d) BBc

140. Which of the following is different from others ?

(a) DCBA (b) LKJI

(c) MNoP (d) HGFE

b, fdtslr{r fe€' futrJ' fu 6.S' dH a

(a) DCBA O) LKJI

(c) MNoP (d) HGFE

r41. If " CARPET" is coded as "TcEApR-, what will be the code for.,NATIoNAL,?
(a) NLATNoLT (b) LNAANToT
(c) LANoITAN (O LNoTNTAA
il*a "cenpEr'$.rcrern";5 fr3r f,iEr t, sr -NnttoNer e, *s i*or.
(a) NLATNOLI O) LNAANToI
(c) LANOITAN (d) LNOINTAA

Prper-I (Aptitude Test) 27 
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142' Tltetime of saurabh's watch is harfpast nine, If the horn hand points towards east, towhich direction would the minute hand point ?

(a) East O) North

(c) West (d) South

Fec et ur* e' F,+ F a t t r **s u?fc,1f ed E* yds +d fs'_d, ild_S t 3, fiiz, €"d
ESfanfer tofsFE,dtdfr ?

(a) V-dE O) gjd
(c) r-iEH (O ErtE

143. In a row of children sohan is 9rh fiom the left and Mohan is 136 from the right. when they
exchange their positions, Sohan becomes l Trh from the reft. what is the new position of
Mohan ?

(a) 2l't G) l8rh

(c) 27t (d) r/n
tffuryr d k a-s.d Fs, +d6 qe u'B + Fa dsd 3 a bB fu6 fri u,i + iE+ i+sd .3
tr ri tt )?rard'?n Ffut)rr fr rreu'-rtrfi dui ur, i.-oe {} u,i + rs.s* ;ire d ar,,
aiertr rioa*a*sffi*i r

(a) 2t ff o) ls +
(c) 27+ (O rz*

144. A car takes 6 hours b cover a journey at a speed 45 kn/tr. At what speed must it travel in
order to complete the joumey in 5 hours ?

(a) 54km/h O) s2 km/h

(c) 60 l<tn/tt (d) 50 km/h

fu a,a qs *mm+ il* ] k ras lnr *ea do d? #S t r frn ras I s lrifarrr' ffs
yd'aea s$ ftF d fi*S adt '3 iiuEr u+dr

(a) 54 km/h O) 52kn/h

(c) 60 km/h (d) 50lsn/tr
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145. Which of the following indicates the best relation between Judges, Thieves and Criminals ?

(a) OO o,@o
n,@ (d) @
d fCkur f€i futls ft', fd' nr3 a,rrrc.*ryt f{s qJH fif,u f eem-6"g' 3

(a) OO .o) @o

146. Which of the altematives replaces the question mark ?

Violet-Yellow, Blue-Red, Indigo ?

(a) Green (b) Yellow

(c) Orange (d) White

fd-trJ' fsdul UFd fii6 fr ns.6!rd+ dde' t
Azte1 - lfrEs', #cr'- u'u, fiiSi - f
(a) fiIr O) rn6'

(c) al-fr (O Hle

147. Which of the following is similar to .,j,7 , ll', ?

(a) 2,s,2r (b) 4,6,14

(c) 2,17,23 (d) 4,e,16

a'6'fdfJlii fEF fuas'.:, z, tr-t xx;ov t
(a) 2,9,2r O) 4,6, 14

(c) 2,17,23

Prpcr-I (Apdtudo T6t)
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\\
f4E. lf .fO,, ,proerrt BAI, what number will represent ApE ?

(a) 80 G) 40

(c) 70 (d) s0

+*s ..1o" sarg edn qer a, fe-€, rfra epr d e-dn,+drq

(a) 80 O) 40

(c) 70 (O 50

149. Rohan slept at 6.45 prn and wakes up at 12:00 noon, how many hours did he sleep ?

(a) 5 hours 15 minutes (b) 6 hours 15 minutes

(c) 6 hours 45 minutes (d) 17 hours t5 minutes

inr6 6:45 uH 3 d-s',rf} Brfos tZ:oo ei $ae, t r go fti} ut? E_s, r

(a) s u?) 15 fiie (u) 6 uia ls fiiz

(c) 6!ff?4sfiiz (d) l7!0a lsJiiz

150. In a gro'p, number ofgirls was more than the number ofboys. If? 15 are given to each

boy and ? 30 to each girl aod total of ? ,165 is dishibuted, what is the total nrmrber of girls

and boys in the group ?

(a) 15 G) 18

(c) 16 (d) le

tra H.lrd Fs 6d-drrd * fnof' Ekyxi S ffifit' + ff,ry'€r fr r furs ola rse d rs

gr} fCi dP )rr3 atd F* 6 ro gug f€ ae )r{3 <i.ry aos Vug € de r F_Hd ffs
Fdx{i Dd 6-Jfrr{t *iig ffo}r'ffiSt

(a) 15 O) 18

(c) 16 (d) 19
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